#AEE 2 5 (5 5 ZRBIFR)

| BEIES | §640039)

fa4 « AKL - SERORE RS
REMIRY

g T #F 5| oM 4 HF£E - EBELHE 1 5| L &% BN

R T HEEOLTR | ARETE KETHREG E R T4

R THREOLET | M ZKET

4 fn4 4FE 7T H 8 H _ A48T H 16 B b
i j 1 i
AN KL B PR MR FEAMEGCGH KRB ROHP | S fm4ET7TH 15H
gi *L%f? 52?51 gé 1,529,000 [ 5% 3 % B | 139,000 1
¥ & M ¥ | 1,580,700 [ 2B 1H & B | 143,700 M
Kl FR i A% | 1,412,400 M 75 IH B Bl AE | 128,400 M
igﬂ%x;i o XX 4 | KT
R OMT T BB 3692
A s X &
T oo f- g g | FREAEE

STAF6H21 HIFAZBERZE RO LB EE
WD) BB)ETOT R TORMIE L THEDOFNLIRETDHHLOET D,
(1) BITHARNICARIEEZRLTNDIE,

FREN I @ A KLFERaLTbo,

(3) IAR—AKLFEOEREAHTNCERTHLHI L,

e el 7 A3

F oL ELE | TR

w AL B B | TEMAROFLIHN TR AKHIRALRS LA O AR SRR A I SHEALIRE TS

INE]| 219 RE]|

FH O 5 XA e [P e ARLedE B ] ARG [P v T8 22
1| WSS 1,425,000 % %% | =%
2 | BEOEHER AKLEEIE | #| s
3 | WHIHENE— =R 1,427,000 # %% | =
4 | fFIHE 1,430,000/ s % % | sxx
5 | WHLIEE AKLEEIE | | wxx
6 | KT 1,390,000 | # # % | *xx VAL E]
7| EHIE AFLEEIR | % % | wxx
8 | W= A Lk 1,435,000 % %% | =%
9 | MERCEERRER AKLEEIE | s
10| b7 TE¥M AKLEEIE | s
11| (EIRG SCR% AKLEEIE | s
12| @R AKLEEIE k| s
13| UT&RA
14
15




(BlIAR)

HEE S fi4-039)
/N Eed E =uz = Parand == @%m]:%:
%%D 4 EEE ﬂ% Zl @IJXH% EI%F B 1 =2 /%Fkg%i}njlj j:7k
BB L F %
2 g4 PR AR Sk BT e i B T
B R L OFE
2 % AT | ) e T
Bl (FXAZHE 300X300) L= 46. Om
VPEE 250 L= 1. Om
= T -
D iy L2




